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3| 92Ma, b, a®EREL, o<a<%m%z>. Dk X,

E;:(cosna, sinne) (n=20,1, 2, 3, ---)
BT LOARS ML ET B, RZNL %,

p=di, Deri=apnt+bde (n=1, 2, 3, )
Ik oTEDD. py—=dy DL TROFNIEZ L.

(1) a, bERD L.
(2) TRTOERE KL, py=d, LB 5L %ETE.

Wp=ap+bg
o+t b,
= (Qcosd +p, Asind)
Po=dz &Y, Qeosot+b=cos2a - @ 7> asind = sin2d - @

@ & sin2d = 2sindcosd &Y, sSind(A-2cosad) =0

0<a< F oy, 0<sina < | wa=2cosd  IarF@&) b=-1
(@) BE e IZE 12 ) RT
(Dh=lnt¥

Binhre &% 7= g & Ky
(Hn=tkocFM)iL->eiRZTEL,
A= 0
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MEE, FEH = 2coS5d ° F; = dg-g

n

2co5d - d_i -_J;.,
= (2cos o cos Rl — cos (h-1)ol , 2cos e~ Sin Bl = sin (R=1)cl )

= (cosd cos Rt = sindsinRd , sinfo cosel + cosfosind)

(Cos(ﬁﬂ)o{, sin(R+1)d)
= Jhes
S N=RtIneT BILo
GL.GIEY, TATOBEF N T, p=gdp "RIEZ> B
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